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Greenwash 



Quiz 
1.  The amount of wood we use each day is 

about  
a)  One toothpick 
b)  One popsicle stick 
c)  One baseball bat 
d)  One ‘2 by 4’ 
e)  One tree  

2.  The biggest user of wood is  
a)  United States 
b)  China 
c)  Russia 
d)  Brazil 

3.  The biggest source of wood is  
a)  United States 
b)  China 
c)  Russia 
d)  Brazil 

4.  From 1950 to 2000, the forests in the 
US… 
a)  Decreased by 1/3 
b)  Decreased by 13% 
c)  Stayed the same 
d)  Increased by 13% 
e)  Increased by 1/3  

5.  Globally, deforestation… 
1.  Is increasing 
2.  Is decreasing 
3.  Is staying the same 
4.  Isn’t happening 



www.lr.org  



Holistic 
concerned with complete systems  

http://buildingcommissioning.wordpress.com/2008/01/ 



http://www.image-archeology.com/redwood_tree_ca.htm  

Green = 
Recyclable, 

Natural, 
Renewable 

or 
Sustainable?  



Source:  FAO, State of the World’s Forests, 2001 

This shape represents 3.5 
billion cubic feet.   
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ftp://ftp.fao.org/docrep/fao/011/i0350e/i0350e02a.pdf 



Logging & Residues 
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Perlack, R.D., et al.  2005.  Biomass as Feedstock for a Bioenergy and 
        Bioproducts Industry: Technical Feasibility of a Billion-Ton Annual 
        Supply. 
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The Carbon Cycle 
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Life Cycle Assessment 

Interpretation 

Impact Assessment 

Inventory Analysis 

Goal and Scope 
Definition 
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Modified from  J. Sheehan & M. Wang (2003) 



Wood	
  Product Unit 

TOTAL	
  	
  CARBON	
  FOOTPRINT	
  	
  
(Nega;ve	
  values	
  represent	
  a	
  

carbon	
  credit)	
  	
  
Units	
  are	
  kilograms	
  of	
  	
  CO2 

Hardwood	
  lumber 
One	
  board	
  foot	
  
(12”x12”x1”) 

-­‐4.2 
-­‐4.1 

SoOwood	
  lumber One	
  2x4	
  ‘stud’ 
-­‐13.0 
-­‐14.9 

Hardwood	
  flooring One	
  square	
  foot 
-­‐1.6 
-­‐0.4 

Doors One	
  door -­‐311.5 
Decking One	
  deck	
  board -­‐24.5 
Siding 100	
  square	
  feet -­‐66.3 

U;lity	
  poles One	
  45'	
  pole -­‐2513.9 

OSB 
One	
  4'	
  x	
  	
  8' 

sheet,	
  3/8"	
  thick -­‐26.3 

Plywood 
One	
  4'	
  x	
  	
  8'	
  sheet, 

3/8"	
  thick 
-­‐23.9 

-­‐27.3 



Atlanta House 
Concrete  

instead of wood… 

Embodied Energy  +16% 

Global Warming Potential +31% or +150% 

Air Emissions +23% 

Solid Waste +51% 



No harvest 







Quiz 
1.  The amount of wood we use each day 

is about  
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1.  Is increasing 
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http://www.youtube.com/watch?
v=C_CDLBTJD4M 


